


SITTING ARRANGEMENT IN CIRCLE AND LINE



SITTING ARRANGEMENT IN CIRCLE

LEFTRIGHT

FACING THE CENTRE FACING OUTSIDE THE CENTRE

LEFT RIGHT



Here some Conjunction is also used instead of name of 

candidate. 

In that case:

∗ AND / BUT /, / IS – first person

∗WHO/WHOM/WHOSE/WHICH – second person



Direction: Study the following information carefully to answer the questions 
given below Six persons A, C, O, P, H and K are sitting around a circular table 
facing outside the center not necessarily in the same order. H sits third right of 
C. A is not an immediate neighbour of P. P sits second to the left of K. Three 
persons are sitting between C and P.
How many persons are sitting between K and O?
निरे्दश: िीचे दर्दए गए प्रश्नों के उत्तर रे्दिे के निए निम्िनिखित जािकारी का 
ध्यािपूर्वक अध्ययि करें, छह व्यक्ति A, C, O, P, H और K एक र्तृ्ताकार मेज के चारों 
ओर कें द्र के बाहर की ओर मुि करके बैठे हैं , जरूरी िहीीं दक इसी क्रम में हों। H, C 
के र्दायें से तीसरे स्थाि पर बैठा है। A, P का निकटतम पड़ोसी िहीीं है। P, K के बायें 
से र्दसूरे स्थाि पर बैठा है। C और P के बीच तीि व्यक्ति बैठे हैं।
K और O के मध्य दकतिे व्यक्ति बैठे हैं?

1- 3
2- 1
3- 2
4- 4



A B C D E F G H sitting in a straight line. Only four people among them are facing 
towards north direction and not the neighbour to each other. A is 4th left of G who is not 
left of D and not any end of the row. There are two persons sits between A and H. E who 
is not facing towards north is fourth from the east end. C is not at right side of A. who sits 
immediate left of D? 
A B C D E F G H एक सीधी रेखा में बैठे हैं। उनमें से केवल चार व्यक्ति उत्तर दिशा की ओर 
उन्मखु हैं, न दक एक िसूरे के पड़ोसी। A, G के बाएं से चौथा है, ज़ो D के बाएं नह ं है और 
न ह  पंक्ति का क़ोई छ़ोर है। A और H के मध्य ि़ो व्यक्ति बैठे हैं। E जजसका मखु उत्तर की 
ओर नह ं है, वह पूवव छ़ोर से चौथे स्थान पर है। C, A के िायीं ओर नह ं है। D के ठीक 
बायें कौन बैठा है?

1- F
2- B
3- CND
4-D



Direction : Study the following information carefully and answer the given
questions . Certain number of people sit around a circular table and face towards
the center of the table . Three people sit between A and B. C sits to the
immediate right of R. The number of people sit between C and B is same as the
number of people sit between C and S. G sits third to the left of T who sits to the
immediate left of V. Two people sit between B and R who doesn't sit adjacent to
A. P sits second to the left of G and to the immediate right of S. No people sit
between V and A. How many people sit around the circular table ?
निरे्दश: निम्िनिखित जािकारी का ध्यािपूर्वक अध्ययि करें और दर्दए गए प्रश्नों के
उत्तर र्दें। निखित सींख्या में ि़ोग एक र्तृ्ताकार मेज के चारों ओर बैठते हैं और मेज के
कें द्र की ओर उन्मिु ह़ोते हैं। A और B के बीच तीि व्यक्ति बैठे हैं। C, R के ठीक र्दायें
बैठा है। C और B के बीच बैठिे र्ािों की सींख्या उतिी ही है खजतिी दक C और S के
बीच बैठे ि़ोगों की सींख्या है। G, T के बायें से तीसरे स्थाि पर बैठा है, ज़ो िीचे बैठा
है। V के ठीक बायें। र्द़ो व्यक्ति B और R के मध्य बैठे हैं ज़ो A के आसन्ि िहीीं बैठा है।
P, G के बायें से र्दसूरे स्थाि पर और S के ठीक र्दायें बैठा है। V और A के बीच क़ोई
व्यक्ति िहीीं बैठता है। दकतिे ि़ोग बैठते हैं र्तृ्ताकार मेज के चारों ओर?

1- 19  2- 20  3- 21  4- 30



Direction : Study the following information carefully and answer
the given questions . Certain number of people sit around a
circular table and face towards the center of the table . Three
people sit between A and B. C sits to the immediate right of R.
The number of people sit between C and B is same as the
number of people sit between C and S. G sits third to the left of T
who sits to the immediate left of V. Two people sit between B
and R who doesn't sit adjacent to A. P sits second to the left of G
and to the immediate right of S. No people sit between V and A.
How many people sit around the circular table ?
निरे्दश: निम्िनिखित जािकारी का ध्यािपूर्वक अध्ययि करें और
दर्दए गए प्रश्नों के उत्तर र्दें। निखित सींख्या में ि़ोग एक र्तृ्ताकार मेज
के चारों ओर बैठते हैं और मेज के कें द्र की ओर उन्मिु ह़ोते हैं। A
और B के बीच तीि व्यक्ति बठेै हैं। C, R के ठीक र्दायें बठैा है। C और
B के बीच बठैिे र्ािों की सींख्या उतिी ही है खजतिी दक C और S के
बीच बठेै ि़ोगों की सींख्या है। G, T के बायें से तीसरे स्थाि पर बठैा
है, ज़ो िीचे बठैा है। V के ठीक बायें। र्द़ो व्यक्ति B और R के मध्य
बैठे हैं ज़ो A के आसन्ि िहीीं बैठा है। P, G के बायें से र्दसूरे स्थाि
पर और S के ठीक र्दायें बैठा है। V और A के बीच क़ोई व्यक्ति िहीीं
बैठता है। दकतिे ि़ोग बैठते हैं र्तृ्ताकार मेज के चारों ओर?




